

1. Calcula el resultado:

a) $\frac{2}{3} \cdot 2 - \frac{5}{6} =$

b) $\frac{2}{3} \cdot \left(2 - \frac{5}{6}\right) =$

c) $\frac{1}{6} : \frac{1}{2} - \frac{1}{6} =$

d) $\frac{1}{6} : \left(\frac{1}{2} - \frac{1}{6}\right) =$

2. Enlaza con la respuesta correcta:

a) $\frac{2}{3} + \frac{1}{6} \cdot \frac{3}{5} =$

4/15

b) $\left(\frac{1}{2} + \frac{1}{6}\right) \cdot \frac{3}{5} =$

23/30

c) $\frac{3}{5} - \frac{1}{6} : \frac{1}{2} =$

3

d) $\left(\frac{5}{3} - \frac{1}{6}\right) : \frac{1}{2} =$

2/5